Advanced Algebra: Unit 3. Regression Lab


1.  One measure of the success of knee surgery is post surgical range of motion for the knee joint.  This range was measured for 12 patients who had surgery following a knee dislocation.  The age of each patient was also recorded.  Let x = age (in years) and let y = the range of motion (in units)

	Age
	35
	24
	40
	31
	28
	25
	26
	16
	14
	20
	21
	30

	Range
	154
	142
	137
	133
	122
	126
	135
	135
	108
	120
	127
	122


a.  Use the TI84 to find the equation for the line that best fits these data points.  Write the equation in slope-intercept form (do the substitution - so don’t make me do it)

b.  What is meant when it is said that this relationship is not perfect?

c.  Interpret the slope in the context of the study.

d.  What range of motion does the equation predict for a patient who is 28 years old?  Show work.

e.  Find the age where the predicted range of motion equals 135 units.  Show work.

Name:


Block:








